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Seat No.: ________                                                     Enrolment No.______________  

 
GUJARAT TECHNOLOGICAL UNIVERSITY 

DIPLOMA ENGINEERING – SEMESTER – IV • EXAMINATION – SUMMER- 2016 
 

Subject Code: 3341903 Date: 17-05-2016      
Subject Name: Theory of Machines 
Time: 10:30 A.M to 1:00 P.M Total Marks: 70 
Instructions: 

1. Attempt all questions. 
2. Make Suitable assumptions wherever necessary.  
3. Figures to the right indicate full marks.  
4. Use of programmable & Communication aids are strictly prohibited.  
5. Use of only simple calculator is permitted in Mathematics.  
6. English version is authentic. 

 
Q.1  Answer any seven out of ten. દશમાથંી કોઇપણ સાતના જવાબ આપો. 14 

 1.  What is inversion of mechanism?  
 

 
 ૧. મીક�નીઝમ� ુઉત્ક્રમણ એટલે ?  

 

 

 2. Define the following terms. (1) Link (2) Mechanism.  
 

 
 ૨. નીચેના પદોની વ્યાખ્યઆપો. (૧) �લ�ક (૨) િમક�નીઝમ  

 

 

 3. Define the following terms. (1) Lower pair (2) Higher pair.  
 ૩. નીચેના પદોની વ્યાખ્ આપો. (૧) લોઅર પેર (૨) હાયર પેર 

 

 

 4. Differentiate between machine and mechanism.  
 ૪. મશીન અને િમક�નીઝમ વચ્ચેનો તફાવત સમ�વ.    

 5. What is turning pair? Give example of turning pair.  
 ૫. ટિન�ગ પેર એટલે �ુ?ં ઉદાહરણ આપી સમ�વો.    
 6. What is friction? List types of friction.  

 

 
 ૬. ઘષર્ એટલે �ુ?ં ઘષરણ ના પ્રકાર જણા.   

 7. What is dynamometer? List types of dynamometer.  
 ૭. ડાયનેમોમીટર એટલે �ુ?ં ડાયનેમોમીટર ના પ્રકાર જણા.  

 8. Define cam and state the function of cam.  
 

 
 ૮. ક�મની વ્યખ્યાઆપો અને તે� ુકાયર જણાવો.    

 9. Differentiate between Flywheel and Governor.  
 ૯. ફ્લાયવ્હ�લ અને ગવનરવચ્ચેનો તફાવત સમ�વ.    

 10. Explain (1) Forced vibrations (2) Damped vibration.   
 ૧૦. સમ�વો. (1) ફોસ્ડરવાઇબ્રે (2) ડ�મ્પ્વાઇબ્રે   

    Q.2 (a) Draw neat Sketch of any one inversions of a slider crank mechanism. 03 
પ�. ર (અ) સ્લાઇડર ક્ર�ક િમક�નીઝમ �ુ કોઇ પણ ઉત્ક્રમણ આ�ુિત દોર� સમ.  ૦૩ 

  OR  
 (a) Draw neat Sketch of any one inversions of a Double-slider crank mechanism. 03 
 (અ) ડબલ સ્લાઇડર ક્ર�ક િમક�નીઝમ �ુ કોઇ પણ ઉત્મણ આ�ુિત દોર� 

સમ�વો. 

૦૩ 
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 (b) Differentiate between brake & Dynamometer. 03 
 (બ) બ્રેક અને ડાયનેમોમી વચ્ચેનો તફાવત સમ�વ. ૦૩ 
  OR  
 (b) Explain working of plate clutch with line diagram. 03 
 (બ) ર�ખા�િતની મદદથી પ્લેટ ક્લચ �ુ કાયર્ સમ.   ૦૩ 
 (c) With neat sketch explain the Klein’s construction to find out the velocity of 

various links of slider crank chain. 
04 

 (ક) સ્લાઇડ ક્ર ચેનની �ુદ� �ુદ� �લ�ક્સન વેલોસીટ� શોધવા માટ� �ક્લ�ન્સન

રચના સ્વચ આ�િતની  મદદથી સમ�વો. 

૦૪ 

  OR  
 (c) With neat sketch explain relative velocity method to find velocity and 

acceleration of four bar chain.  
04 

 (ક) ફોર બાર ચેઇન માટ�  સાપેક્ષ વેગ અને પ્રવેગ શોધવાની પધ્ધિત આ� 

મદદથી સમ�વો. 

૦૪ 

 (d) The crank of a steam engine is 150 mm long and the connecting rod is 600 
mm long. The crank is at 30° from IDC and engine speed is 240 rpm clock 
wise. Find (i) velocity and acceleration of piston. Use relative velocity and 
acceleration method.  

04 

 (ડ) સ્ટ�મ ��નના ક્ર�કની લંબ150 મી.મી. અને કનેક્ટ�ગ રોની લબંાઇ 600 

મી.મી. છે. ક્ર�ક .ડ�.સી. થી 300 ના �ણેુ છે તથા ��ન ઘડ�યાળના 

કાટંાની �દશામા 240 �ટા પ્રિત િમિનટની ગિતથી ફર� . તો (1) પીસ્ટનનો

વેગ અને પ્રવેગ શો. સાપેક્ષ વેગ અને પ્રવેગ પધ્ધિત નો ઉપયો.   

૦૪ 

  OR  
 (d) Solve above example (Que.2 (d)) using Klein’s construction method.  04 
 (ડ) ઉપરનો દાખલો (પ્. ર(ડ)) �ક્લ�ન્સની રચની મદદથી ગણો.  ૦૪ 
    Q.3 (a) Classify mechanical power transmission & state advantages of chain drive. 03 

પ�. 3 (અ) િમક�નીકલ પાવર  ટ્રાંસ્મીશન�ુ વગ�કરણ  અને ચેઇન ડ્રાઇવ ના ફાયદ

જણાવો. 

૦૩ 

  OR  
 (a) From the following details for the open belt drive, find the necessary width 

and initial tension in the belt. 
(1) Diameter of pulley=600 mm 
(2) Arc of contact= 3 rad.  
(3) co-efficient of friction=0.4  
(4) power transmitted at 400 rpm= 4 KW  
(5) Safe tension for belt [T] = 10N/mm width.  

03 

 (અ) નીચે આપેલ િવગત પરથી ઓપન ફ્લેટ બેલ્ટ ડ્રાઇવ માટ� બેલ્ટની જ

પહોળાઇ તથા ઇનીશીયલ ટ�શન શોધો.  

(1)  ડ્રાઇવ�ગ �ુલીનો વ્=600 મી.મી.  

(2)  ડ્રાઇવ�ગ �ુલી સાથે આકર્ ઓફ ક�ટ= 3 ર�ડ�યન  

(3)  �લુી તથા પટા વચ્ચેનો ઘષર્ણાં= 0.4  

(4)  પાવર ટ્રાંસમીટ�400 �ટા પ્રિત િમનીટ= 4 KW  

૦૩ 
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(5)  બેલ્ટ માટ� સલામત ટ�શ[T] = 10 N/mm પહોળાઇ    
 (b) A leather belt 200 mm ×10 mm is of density 1.1 gm/cc. its maximum 

permissible tension is 200 N/cm2. If the ratio of tensions is 1.8, determine 
maximum power transmitted?  

03 

 (બ) 1.1 ગ્ર/સેમી3 ની ઘનતા વાળા બેલ્ટની માપ200 મી.મી × 10 મી.મી છે. 

મહ�મ સલામત સ્ટ્ર= 200 N/cm2 . જો ટાઇટ તથા સ્લેક સાઇડના ટ�શનનો

�ણુો�ર 1.8 હોય તો મહ�મ ક�ટલો પાવર ટ્રાંસમીટ થઇ શ?  

૦૩ 

  OR  
 (b) A conical bearing in the form of frustum of cone has a mean diameter of 200 

mm.it supports an axial load of 40 KN. The semi cone angle is 45°, and 
μ=0.05.determine the power lost in friction at 100 rpm.  

03 

 (બ) “�સ્ટ્રમ  કોન” આકાર વાળ� એક કોનીકલ બેર�ગનો સરાસર� વ્યસ 

200મીમી છે. તે 40 KN �ટલો એક્સીયલલોડ સપોટર ્ કર� છ.સેમી કોન �ગલ  

45° છે. અને μ=0.05 છે,તો 100 આર પી એમ પર ઘષર્ણ મા વ ્યયતો 

પાવર શોધો.  

૦૩ 

 (c) Derive the expression Tc=mv² with usual notation and assumptions. 
 

04 
 (ક) Tc=mv² �તુ્ર જ�ુર� ધારણાઓ સાથે સા�બત ક.  ૦૪ 
  OR  
 (c) Prove that Ratio of driving tensions for flat belt drive is 2.3log (T1/T2) = μθ. 04 
 (ક) સપાટ બેલ્ટ માટ� ડ્રાઇવીગ ટ�ન્સનનો �ુણ2.3log (T1/T2) = μθ છે તેમ 

સા�બત કરો. 

૦૪ 

 (d) Explain Compound Gear train. 04 
 (ડ) કમ્પા�ડ ગીયર ટ્ર�ન સમ.  ૦૪ 
  OR  
 (d) Explain Epicyclic   Gear train. 04 
 (ડ) ઇપીસાય્ક્લી ગીયર ટ્ર�ન સમ�. ૦૪ 
    Q.4 (a) Derive the expression for the friction torque for a flat pivot bearing assuming 

uniform pressure.  
03 

પ�. ૪ (અ) એકસર� ુદબાણ ધાર� ફ્લેટ િપવૉટ બેર�ગ�ુ ઘષર્ણ ટોકર્ માટ�  � ુ મેળવો.  ૦૩ 
  OR  
 (a) State the various types of thrust bearing and their applications.  03 
 (અ) �ુદા �ુદા પ્રકારની થ્રસ્ટ બેર�ગ અને તેના ઉપયોગ.  ૦૩ 
 (b) Explain turning moment diagram for Four stroke cycle IC engine. 04 
 (બ) ફોર સ્ટ્રોક આઇ સી ��નનો ટિન�ગ મોમ�ટ ડાયાગ્રામ .   ૦૪ 
  OR  
 (b) Explain the term “fluctuation of Energy” and “fluctuation of speed” as 

applied to the flywheel.  
04 

 (બ) ફ્લાયવ્હ�લનસદંભર્માં“ ફ્લક્�ુએશન ઓફ �ન” અને “ફ્લક્�ુએશન ઓ

સ્પી” સમ�વો.    

૦૪ 

 (c)  A disc cam is used to give motion to a knife edge follower. For the 1st 1200 of 
cam revolution, follower moves up 60 mm with simple harmonic motion. For 
the next 600 of cam revolution, follower remains at rest. For the next 1200 of 
cam revolution follower comes down with uniform velocity. For remaining 

07 
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period of cam revolution it remains at rest. Diameter of base circle of cam is 
50 mm. assume cam rotates in anti-clockwise direction. Draw cam profile. 

 (ક) એક �ડસ્ક ક�મ નાઇફ એજ પ્રકારના ફોલોવરને ચલાવે. ક�મની શ�આતના 

1200 ભ્રમણ દરમ્યાન ફોલોવર સીમ્પલ હામ�િનક ગિ60 મીમી ઉપર ખસે 

છે.પછ�ના 600 ભ્રમણ દરમ્યાન ફોલોવર �સ્થર રહ. ત્યારબાદ1200 ભ્રમ

દરમ્યાન ફોલોવર �ુિનફોમરવેલોસીટ�થી પોતાની �ળૂ જગ્યાએ પાછો આવે છ. 

બાક�ના ભ્રમણ દરમ્યાન ફોલો વર �સ્થર રહ. ક�મનો બેઝ સકર્લ વ્યા50 

મીમી છે.ક�મ એન્ટ� ક્લોકવાઇઝ ફર� છે તેમ ધા. 

૦૭ 

    Q.5 (a) What is vibration? State causes of vibration & measures to reduce vibrations. 04 
પ�. ૫ (અ) વાઇબ્રેશન એટલે ? તેના કારણો અને િનવારણના ઉપાયો જણાવો.   ૦૪ 

 (b) Explain with neat sketch the working of Hartnell Governor. 04 
 (બ) હાટર્નેલ ગવનર્ર�ુ કાયર્ આ�િત દોર� સમ.  ૦૪ 
 (c) Explain the balancing of several masses revolving in the same plane by 

analytical method.  
03 

 (ક) ગણીતીય ર�તનો ઉપયોગ કર� એકજ સપાટ�મા ંફરતા  ઘણા બધા દ્રવ્યમાનો�

સમતોલપ�ુ ંસમ�વો.  

૦૩ 

 (d) List types of followers and explain any one with figure. 
 

03 
 (ડ) ફોલોઅસર્ ના પ્રકાર લખો અને કોઇ એક આ�િત સાથે વો.   ૦૩ 

 
************ 
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